                                                   Fourth Suit Forcing  (FSF)                                                                                              During the auction players should normally (with a few exceptions) strive to make a limit bid as soon as possible, in order to clearly define the strength of the hand, using LTC and / or HCP.                                               Examples:-               1H             3H (limit bid showing 8 losers or 10-12 HCP)
                         or     1H            1NT  (6-9 HCP and denying 4 Hearts or 4 spades)                                                                   The Partner, of the player who made a limit bid, can set the level of contract or enquire further.                                                                                                                                                                                      
A limit bid is usually made by bidding:-

· partner’s suit at an appropriate level (using Losing trick count),                                                                                                        when a ‘fit’ of a combined 8+ card holding is discovered. 
· or by bidding NT at a suitable level (using High card Points) if no fit is discovered and all four of the suits have been bid or implied.                                                                         
Sometimes, after partner’s opening as well as your response and also opener’s re-bid, it is still not possible to make a limit bid, but you know that strength for a game is clearly indicated.                                                                                                         Fourth suit forcing (FSF) denotes a partnership agreement that allows responder to create a forcing situation, at their second turn to bid or for opener at their third turn to bid e.g. :-                                                                                                                                    .       1
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                                    where the 4th suit bid is an artificial FSF.
Under the ‘fourth suit forcing’ (FSF) convention, a bid by either player of the fourth (un-bid) suit is conventional (i.e. does not promise any particular holding in the suit bid).                                                               Using Fourth Suit Forcing (FSF) implies that the bidder has no good limit bid to make, but….. nonetheless has something of value, and wishes to continue searching for the best contract.                                                                                                FSF returns the bidding to your partner, and asks them to find another bid in order to further describe their hand.                                                                                                                                                                                                                                                           You can reply by showing:-   
· extra length in the first bid suit.
· extra length in the second bid suit.
· belated support for responder’s first suit with 3 (or 2 very good) cards
· a stop card in the fourth suit , shown by bidding No Trumps

An Example     A typical 4th suit forcing situation is as follows:                                                                                                                        W                                 E                                                                                                                                                                                         1D                              1S                                                                                                                                                                               2C                               ?                                                                                                                                                                                   
East holds:                                   ♠ A Q 8 6 2                                                                                   .                                                      .                                                     ♥ 8 4 3                                                                          .                                                     .                                                      .                                                     ♦ Q 7                                                                                            .                                                       .                                                     ♣ A J 5                                                  What do you bid now?
After 2♣, East can see there are likely to be sufficient points for game, but has no good limit bid.                                                                                                                                                                                                         

· East has shown their spade suit fully already.                                                                                                                       To re-bid spades now would imply a longer (or maybe occasionally a stronger) suit than there is here. The hand is not good enough for a 3♠ re-bid. 
· East cannot bid in support of either minor suit because the holding in both suits is inadequate (the suits are too short). 
· They cannot bid No Trumps because this implies a Heart stop, which is lacking.  Partner is quite likely to lack this suit as well (because they have already shown two suits so far). If north bids 2NT the contract will probably end up in a poor 3 NT contract.                                                                                                     A heart lead is an obvious defense strategy, so 4 or even 5 heart tricks may be lost immediately.
· East is also unable (or is very reluctant) to pass because with 3 suits already bid and around                                             25 -26+ high card points, they feel that there is a good chance that a game contract would be viable.                                                                                                                                                East does not have a good bid to make. All bids available will give partner an impression of stronger support than there is here, or show the incorrect hand shape, and might well lead to a bad choice of final contract.                                                                                                                                                     
East , instead bids the 4th suit (fourth suit forcing) – i.e.  2♥ to show that:-
· They believe that they have sufficient values for game. (occasionally a bit less if looking for the best contract at the 3 level) 

· The hand lacks a good stop in the fourth suit (hearts here) needed for no-trumps.                                                (it may or it may not hide a semi-stop in the fourth suit e.g. J 10 x or Q x)
· They have not got a viable bid in any of the other suits.
· (Depending on partnership agreement), this 2♥ bid may be either forcing for one round, or forcing to game level (usually it is forcing to game). Partner then understands the situation better, and can try to find a bid on that basis (instead of being misled).                                                                                                                                
It is not, as some players think, simply a request for a stop in the 4th suit -looking for a NT contract.
Some example hands will help to demonstrate how opener should respond to a 4th suit forcing re-bid sequence by responder.                                                                                                                                                                    

Each example below shows opener's hand, starting the auction.
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